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An ally to be emulated

In Britain there are just over half a million children in private schools – a mere 7% of the total pupil population. Yet more than 20% of those who make it to university and nearly 50% of those who go to Oxford or Cambridge went to private schools. A study last year showed that 87 of the 100 schools with the best ‘A’-level examinations results were in the private sector. For Tony Blair’s Labour Party, private schools are no longer (as they traditionally were for the left wing) the enemy to be abolished, but rather an ally to be emulated. The Labour Minister for School Standards, indeed has spoken at conferences of private-school headteachers, expressing admiration for their work. Since May 1977 the British government has put 1.6 million pounds into ‘bridge-building’ schemes to enable state-school pupils to take advantage of the techniques of private-sector teaching. The government doesn’t believe that the success of the private schools is to be explained by their intake of motivated children from upper- and middle-class families, or that the explanation lies in the extra resources or smaller classes in private schools. The government thinks that the determining factor is the quality of the teaching. 

A.- Decide whether the statements below are true or false. Justify your answers with words from the text. 
1 Most university students in Britain went to private schools.

2 The Labour Party thinks that the private schools are doing a good job.

3 The Labour Party thinks that the children at private schools do better because they come from better homes.

B.- Answer the following questions in your own words. 
1 What has the British government done to improve state schools?

2 Explain the phrase “the determining factor”.

C.- Answer at least one of the following. Write 100 words. 
1 Do you believe private schools are a good thing? Why ?

2 Describe your school.
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